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The booklet contains OMR sheet and having two
seals. Candidates will first open the booklet by
removing the seal at the top to get the OMR sheet.
Second seal will be removed two minutes before the
commencement of the examination.

Before starting the Examination, the candidate must
write her/his Roll Number in the Question Booklet
and the OMR Answer Sheet; in addition to putting
signature at the places provided for the purpose.

This Question Booklet consists of this cover page, and
a total 100 items. Use Blank pages available at the
end of Question Booklet for rough work.

There are four alternative answers to each item
marked as (a), (b), (c) and (d). The candidate will have
to select one of the answers that is considered to be
correct by her/him. S/he will mark the answer
considered to be correct by filling the circle.

Use black/blue ball point pen to darken the circle.

See the following illustrations.

[llustration:

1. Thesum of 20 and 12 is

(@) 32 (b)38(c)31(d)34

The Correct answer of item 1 is (a), which should be
marked in OMR Answer Sheet as under:

3 1000

Half filled, faintly darkened, ticked or crossed circles
will be read as wrong answers by the optical scanner
and will be marked as incorrect.

The OMR Answer Sheet must be handed over to the
invigilator by the candidate before leaving the
Examination Hall.

Keep OMR Sheet straight. Do not fold it.

All questions are compulsory, each question carries
one mark.

Incidence of carrying of calculator/mobile/any
electronic  device/objectionable material will be
treated as unfair means case.

Controller of Examination
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Please note that in case of any confusion, the question printed in English will be considered final.
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The social distance method is developed by
a)Bogardus

b) Goode & Hyatt

c) Likert

d) Guttman

When the balance between the material and

non-material culture is disrupted by rapid social
change, the material culture changes rapidly
and the non-material culture is left behind. This
situation is called:

a) left culture

b) far-culture

c) cultural lag

~ d) taken culture

Whose statement is this?

“Jajmani relationships is the means by which
the rich and powerful exploit the poor and
coerce the workers into sustaining the power of
those who have the upper hand and the higher
rank.”

a) M.N. Srinivas

b) Mandelbaum

c) Beidelman

d) H. Maine

Who among the following has rejected the '

notion of dichotomy between rural and urban
and also the view that urbanisation is an
independent variable?

a) R.K. Mukherjee

b) Louis Wirth

c) K. Ishwaran

~d) Milton Singer

The basis of slave system is always?
a) Political

b) Economic

c) Custom

~ d) Social need
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Which is the correct sequence of tribal
rebellions which took place during the early
days of the British rule in 18th and 19th
centuries?

a) Kacha Nagas Rebellion, Birsa Movement
among Mundas, Kol Rebellion, Santhal
Rebellion

b) Santhal Rebellion, Kol Rebellion, Birsa
Movement among Mundas, Kacha Nagas
Rebellion

c) Kol Rebellion, Santhal Rebellion, Kacha
Nagas Rebellion, Birsa Movement among
Mundas

d) Kol Rebellion, Birsa Movement among
Mundas, Kacha Nagas Rebellion, Santhal
Rebellion

7. The group of thinkers supported cultural view of

caste were:

a) Weber, Barth, Bailey

b) Srinivas Barth, Bailey

¢) Weber, Srinivas, Dumont
d) Dumont, Weber, Bailey

Which one of the following theories argues that
“Poverty is a direct consequence of evolution
of the international political Economy into a
fairly rigid division of labour which favoured
rich and marginalised the Poor” ?

a) World System Theory
b) Liberalism

c) Neo — liberalism

d) Post Modernism

* Whose definition is this?

‘Tribe is an indigenous unit speaking a common
language, claiming a common descent, living in
a particular geographical area, backward in
technology, pre-literate, loyally observing social
and political customs based on kinship.’

a) A conference at Shillong in 1962

b) Earth Summit at Rio in 1992

c) Radcliffe Brown

d) Indigenous People Conference, Sav Paulo
1937
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It was as the founder of “Positive” movement
that- achieved recognition as a philosopher, and
although modem sociologists do not consider
his theories as anything other than a series of
interesting speculations, they recognize that he
was responsible for demonstrating the need for
an objective systematic study of society.

a) Auguste Comte

b) Saint Simon

c) Herbert Spencer
d) Emile Durkheim

‘Group Mind’ was written by:
a) Bonsanquest

b) Mac Dougall

c) Spencer

d) Hege

‘In a metamorphical sense the Vvillage
communities of India were of many years
beyond the frontiers of dynasties which ruled
the great cities’. Who made this statement?

a) S.C. Dubey
b) M.N. Srinivas
c) Biedleman
d) G.S. Ghurye

The prohibition of Sagotra marriages among
Hindus is an example of

a) taboo on cross — cousin marriage
b) Clan exogamy

c) The rules of caste endogamy

d) Incest taboo

How syncretism is best defined?
a) Spread of cultural attributes from one

culture to another through contact between

groups.

b) Immigrant or subordinate group becoming
indistinguishably merged into dominant host
society

¢) Two or more groups of different cultures
interact to produce a third culture

d) None of the above
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A person on his way to attend the office at 10
a.m. found an injured person lying on the

road and took him to a hospital. As a result of
this, he could not reach his office in time.
According to Max Weber, the above may be
categorized as a/an

a) Rational action with goal
b) Emotional action

c) Rational action with value
d) Charismatic action

The theory that views people as “Stage
managers” managing impressions presented to
the world is

a) Role theory

b) Dramaturgy

c) Looking Glass Self

d) Dialectual theory

Which term describes a theory according to
which the essence of the phenomena of society
and culture consists in their dynamic and
developmental character?

a) historicism

b) existential

¢) cultural specific

d) rationality

Who held the view that Indian tribals were
backward Hindus?

a) G.S.Ghurye
b)Y.B.Damle
c) A.R.Desai
d) N.K.Bose

Who define culture in the following way,
“Culture or civilization, taken in its wide
ethnographic sense, is that complex whole
which includes knowledge, belief, art, morals,
law, custom, and any other capabilities and
habits acquired my man as a member of
society”.

a) Clifford Geertz

b) E. B. Tylor

c) Maclver and Page

d) Bronistaw Malinowski
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Who has observed a link between the structures
of the mind and the structures of society?
a) Lemert

b) Radcliffe-Brown

C) Levi-Strauss

d) Foucault

Who is of the opinion that the notion of
fundamental opposition between the pure and
the impure is the hallmark of the caste system?
a) M.N. Srinivas

b) Louis Dumont

c) Surajit Sinha

d) B.R.Ambedkar

Death resulting out of failure in love affairs is an V

example of :
a)Fatalistic suicide
b) Egoistic suicide
C) Altruistic suicide
d) Anomic suicide

Kamla teaches in a college, organizes a kitty
party, takes care of her daughter and presides
over a meeting of women’s organization. Which
of the following concepts is used to describe her
role?

a)Role conflict
b)Role set

c) Multiple roles
d)Role making

“Culture is man’s guide, it liberates as well as -
enslaves him as all gides do. Which of the
following school represents this view?

a) Evolutionary School

b) Marxian School

C) Diffusionistic School

d) Culture-personality School

Who concept the ‘Symmetrical Family’ has been '
propounded by:

a) Young and Willmott
b) Oakley
c) Bauman and Smart
d) Smart
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Who among the following distinguishes three
components of the 'life world' culture, society
and personality?

a) A. Schultz

b) E. Husserl

c) P. Berger

d) J. Habermas

Who among the following theorisds sees
contemporary society as a death culture, with
death being the 'paradigm’' of all social exclusion
and discrimination?

a) J. Baudrillard

b) U. Beck

C) M. Foucault

d) J.F. Lyotard

Who founded the ‘Sociolology society of
London’?

a) Patrick Geddes

b) Radcliffe Brown

C) Victor Branford

d) Herbert Spencer

“The Clash of Civilizations’ proposes that
peoples’ cultural and religious identities will be
the primary source of conflict in the post-cold
war world.” Who proposed this view?

a) J.5.Mills

b) Max Weber

c) Samuel P. Huntington
d) Emile Durkheim

Match the items in List-l with the items in List-I|
and choose the correct answer from the codes
given below:

List-1

a) Higher Fertility-High Mortality

b) High-Fertility-Low Mortality

c) Low Fertility-Low Mortality

d) Low Fertility Negligible Mortality

List-1l

1. Developed Society

2. Primitive Society

3. Developing Society

4. High Developed Society

(a b c d)
a)1 4 2 3
by4 2 3 1
c)3 2 4 1
d2 3 1 4
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Who among the following define social
structure as:

‘Abstraction from the concrete population and
its behaviour, the pattern or network (or
‘system’) of relationship obtaining between
actors in their capacity of playing rules relative
to one another’.

a) C.W.Mills
b) H.Gerth
C) Hegel

d) S.F.Nadel

Who made it clear that the focus on conflict
should not be ideological but rather it should be
a focus on the central process in social life on
the realistic ground?

a) G.Simmel

b)A.R.Louch

c) R.Collins

d) Dahrendorf

Who is the author of the book, “The origin of the
family, private property and the state’?

a) G.P.Morgen

b) William J.Goode
c) F.Engels

d) L.Dumont

Who has coined the term ‘Quasi_group’?
a) Ogburn

b) Ginsberg

C)Le Bon

d) Spencer

When the individual or group compares himself
or itself with the other individual or group, this
is called:

a) Immitation

b) Reference group behaviour

c) ldentification

d) Acculturation

Who has classified social system on the basis of
solidarity?

a) Sorokin

b) Linton

C) Kingsley Davis

d) Morgen

Who among the following is a proponent of
cyclical theory of evolution?

a) T. Parsons

b) E. Durkheim

C) 0. Spengler

~d) H. Spencer
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Poverty Stimulates population growth, as the
diet of the poor is insufficient’. This view is put
forward by:

a) The Density principle

b) Diet Principle

c) Classical Theory

d) Malthusian Theory

In which of the following tribes, clan does not
exist?

a) Santhal

b) Oraon

c) Nuer

d) Kadar

Among the One is often obliged to marry
one’s father’s widows, other than one’s own
mother?

a) Rengami Naga

b) Jhang Tribe

C) Sema Naga

d) Kuki Tribe

Which family was founded upon marriage
between single pairs, without giving the right of
exclusive cohabitation to any person over
another?

a) Extended

b) Polyandrous

c) Consanguine

d) Syndyasmian

Match List-I with List-1l and select the correct
answers from the codes given below:
List-1

a) L.H.Morgan

b) Toynbee

C) Talcott Parsons

d) Augaste Comte

List-1l

1. Evolutionally Theories

2. Cyctical Theories

3. Functionalist Theories

4. Barbarism

Code:

(a b c d)
a) () (ii) (i) (iv)
b) (iv) (i) i) Gii)
c) (iv) (i) (iii) (i)
d) (iv) (i) (i) (i)
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Select the correct chronological (ages) order?

a) Chalcolithic, Mesolithic, Paleolithic &
Neolithic

b) Paleolithic, Mesolithic, Neolithic, Chalcolithic

C) Neolithic, Chalcolithic, Paleolithic, Mesolithic

d) paleolithic, Mesolithic, Chalcolithic, Neolithic

‘Parsons’ phrase “nipping deviant tendencies in
the bud” is applicable to:

a) Social control

b) Social organization

c) Social change

d) Social interaction

An acephalous society:

a) Has no central authority

b) Is a moderately complex society with chiefs

c) Is organized around phallic worship

d) Is controlled through a centralized
mechanism

‘Culture is that complex whole which includes
knowledge, beliefs, arts, morals, law, custom
and any other capacities possessed by man as a
member of society’” Who said this?

a) Taylor

b) M. Mead

C) Bernard

d) Galpin

Who was the first to use the comparative
method or indirect experiment method in
sociology?

a) Emile Durkheim

b) V. Pareto

¢) Herbert Spencer

d) Max Weber

For Talcott Parsons Adaptation, Goal-
Attainment, Integration and Latency are:
a)Functional Prerequisites

b)Functional Imperatives

c) Functional Alternatives

d)Functional Universals



49. Fyfafad & F f&g «d & ad P QURIT Tt 37

b) SEIH

SERIERE

d) aig
a) ggdt ud

50. grgfera yHTg” &1 3 B
a) o9
b) HRRIT R T IS
c) Ul ®1 3w81 & 3IFY WY Bt
GRS
d) foliT & 3R R 9H fauH

49. Which of the following religions does not have
concept of divinity?
b)Islam
c) Christianity
d) Buddhism
a)Judaism
50. The “Pygmalion effect” refers to:
a) Domestic violence
b) Sexual harassment at workplace
c) Redefinition of self to conform to wishes of
husbands
d) Division of labour based on sex

Research Methodology

51. fgfafed & 9 oF 9H=Ia: ondS
My & e @ & it T8t gar 82

a) U URTUzas dgifaw deuf o
ST T Tl T

b) 31T & fSITE B SarReA

c) SNe U & Heiy H g s b =l

d) IRF B! WHR 1 SRABR B H1 A0

52. U XMYbHdl gg TRI&U B4 & fog
T YOI IR Rl ¢ b o= a1
T YU R & folT TR HY TRER
fpa HId &1 39 A B, 31T &I
T IR UT:

a) WEtHRu
b) faarur
C) UH1a
d) Hiqsgamon

53. ¥ Teg fbOd de: TN TP -
gfaurh vdders & w9 § QY TF
far S @ 4 wer A Wer
fooar ma, 39 urn f F Ay ue
R-3qAHd HIfGR &9 T §"?
a) o ArferIaws!

b) § gifH
c) faferem e ==
d) T TS

54, fgfafed & @ @ @ fORvar
oS Y H Ayl A et 82
a) AF®IPd YT SUBRUN &1 Fgadl § Sl ThA Bl
b) TYTTAT AT dAh-th] & AT [SSIST FHATHRI|
¢) A A JW & SFHI Hied &b
1Y ST ThH BT
d) TU-S13 AoHIES 18T & 1Y
ST THA BT

51. Which of the following is not normally included
in a written account of qualitative research?

a) An introduction, locating the research in its
theoretical context

b) An explanation of the design of the study

c) A discussion of the main findings in relation
to the research questions

d) A decision to accept or reject the hypothesis

52. A researcher designs an experiment to test how
variables interact to influence how well children
learn spelling words. In this case, the main
purpose of the study was:

a) Explanation
b) Description
c) Influence
d) Prediction

53. Who said these words: “| started research as a

non - participant observer. As | became
accepted into the community, | found myself
becoming almost a non - observing

participant”?
a) B. Malinowski
b) E. Durkheim
c) William F. Whyte
d)N. Anderson

54. Which of the following features are considered
as critical in qualitative research?

a) Collecting data with the help of standardized
research tools.

b) Design sampling with probability sample
techniques.

C)Collecting data with bottom-up empirical
evidence.

d)Gathering data with top-down schematic
evidence.



55.

56.

57.

58.

59.

60.

61.

MY F T HH T I e usla
sicH-3g g1 SRed RS 22

a) e fafd

b) A fafd

c) URF oo fafd

d) e fafyr

T JNY YHT AT HISH g &
Mo & forw duifdd ®sR&l &
UM &1 Udl T BT SST [T
Bl 39 3w & fou o I Wy
Ugid Ty Iugad gri?

a) guiHTd® Tder fafy

b) AfaeTRie fafy

c) ®IafR fafy

d) uraifires fafdr

39 Ufehar & o G Iugad A
F g 98 uaEe MY @
ARl gl 8?

a) gTW

b) ARl

c) gt fawersor

d) 3t

o BIc ¥ g/ R fbr e
Tefon & SMYR R T3 3M1aT & IR
T U T B Tefid FRar g

a) B« 3fJHH
b) 35T S(AM
¢) NTHATHS SHH
d) TS S
ACH T AETDHR
fearemarg
a) d1g-fadrg
b) FHATHRU
c) Hg TSl
d) Yffyept AumT
T Widhfas A 7 o oy §rd
€, U8 9HeH & forg A9 aR & WMy
mﬁwﬁaﬁr%
Wuﬁnﬁ
b) IHRIA® UfcH™
C)Wtﬁﬂﬂ
d) FrATHS UfaHH
i &1 39 9Ull Bt Ugar & ol
AT & SR oEl & FARaR ufafear
e &3 & forg IRaq &t wifd &1
3THT Bl B
a) pidfea
b) sTafees
C) WgHe
d) IRTTHD

FHHAY
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55.

56.

57.

58.

59.

60.

61.

Which scientific method is a bottom-up or
generative approach to research?

a) Deductive method

b) Inductive method

C) Hypothesis method

d) Pattern method

A research intends to explore the result of
possible factors for the organization of effective
mid-day meal interventions. Which research
method will be most appropriate for this study?
a) Descriptive survey method

b) Historical method

c) Ex-post facto method

d) Experimental method

What is the best-suited name for a process that
doesn't necessitate experimental research?

a) Manipulation

b) Controlling

c) Content analysis

d) Observation

refers to inferring about the whole
population based on the observations made on
a small part.
a) Pseudo-inference
b) Objective inference
) Inductive inference
d) Deductive inference

Dramaturgical interviewing is carried out
through

a) Debating

b) sampling

C) Case study

d) Role playing

The research approach of Max Weber to
understand how people create meanings in
natural settings is identified as

a) Critical paradigm

b) Positive paradigm

¢) Natural paradigm

d) Interpretative paradigm

Identify the category of evaluation that assesses
the learning progress to provide continuous
feedback to the students during instruction.

a) Formative
b) Diagnostic
c) Placement
d) Summative



62. UH MY ST BT IRIRAT fIdur &t
AR ART & gHE THR A
T g A s RRReR 5g4 8ifre 8,

d)

63. "IFY 3R URkA BHE IEHG
Irgar glem H 9HH ¥ 9 9 3=ST
TR ®d 1" I8 By SAId BT 8

a) 3 R

b) 13T uResedn
c) giRkg® g uReed-T
d) fe=meTe uRe e

64. Miua S, # AR Jpamewd @t

T%@ﬁ%%ﬁ?ﬁ?wwﬂﬁ

?

a) IHRieR Ay ok defia
3G} HT FI&UT 3R 3T B WY &H
fore gaima, T oik ufkfary, defea
YT BT GA&Ul, TR, HTIH BT
fer=q, Sar

b)ﬁaﬁwaﬁvm,ﬁmo‘ﬁeﬁ?
ARG, 3 & ST BT JATd
faan, gy, 9efdra sregmai & oy
gdeor, e, o=, Sregme &1
IESIES]

C) 37 fyzdwor 3R ARe, ey
3R ISR, MY & WY & forg
Jaia, g, ufked, Tefea siemat
PT de&ruT, 3erg &1 e, SeT
Tdfa; fazawor iR sgre

d) SHRiER R ey TR S
M & MY & e gama, e sk
Ry IR 3R Wi

65. T fEomgd &1 Iezaygul ugfa &

T3t BT I & AR
far ST 8

a) safaard Ao

b) wifiedr &1 g
c) Ff¥adr &1 s
)Bﬂﬁ?ﬁﬁ@fﬁéqﬁr

66. 19 BIs fdT M) AT & SHD 9= Bl &
ql 98 B9 |1 IRIR I B |
a) AfAfa=~mg &1 IRaR
b) e uRaR
c) U—fpeeM &1 uRaR
d) qarfgs

62. The frequency distribution of a research data
which is symmetrical in shape similar to a
normal distribution but center peak is much
higher, is

a) Skewed

b) Platykurtic
C) Leptokurtic
d) Mesokurtic

63. "Male and female students perform equally well
in a numerical aptitude test." This statement
indicates

a) Null hypothesis

b) Research hypothesis
C) Statistical hypothesis
d) Directional hypothesis

64. In a Ph.D. thesis which one is the correct
sequence for showing scheme of
Chaptalization?

a) Generalizations, Conclusions and Survey of
related studies and suggestions for further
research, References and Appendix, Survey of
related studies, Introduction, Design of the
study, Data

b) Analysis and interpretation, Conclusions and
generalisations, suggested further study,
References, Appendix Survey of related studies,
References, Introduction, Design of study

C) Data analysis and interpretation, Conclusions
and generalizations, Suggestions for further
research, Appendix, Introduction, Survey of
related studies, Design of study, Data

d) Presentation; analysis & Interpretation,
Formulation of generalization & Conclusions,
Suggestions for further research, References &
Appendix Answer & Explanation

65. In the purposive method of sampling design,
items are selected according to

a) Personal judgement
b) Law of probability
c) Law of certainty

d) None of the above

66. Which family is formed by an individual
when he marries and has children?
a) Family of orientation
) Nuclear family
c) Family of pro-creation
) Conjugal
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67.

68.

69.

70.

71.

72.

WA 97 A adidd Bl Y TR
gRyTia fear g, - > AT
d & TG AT A oD
AER 3R Sfed TS TR &
rY-1Y FHIAT BT TG B arelt
3ITT- AT IH13T] Bl S b RN
H IS & ©U H sT9rd fHar o
I gl

a) dH

b) 3fid

c) faywitg |

d) T 3R & g

T T3 H! 97 Hel ol 8 TS T8
SRS &1 U T H&6 fa=uarsi ol
SIRI B g H 3 i 87

a) 3fwsl AT

b) TRTE AT

C) U&faTcil AT

d) SuyTdT AT

S A=l @ fIar &1 W favrad ¥

forerar & o7 IRAR FEdrT B
a) 3P

b) USIIA®H

c) fozrac®

d) Ja1fd®

fafafed & @ &9 & gBR 3!
RS IR T ]2

a) U9 arad

b) daIT Arfgfde ARt

c) el Wgfd® IRt

d) I Afgfds Ikt

IR T dd §gd b Teifd @
a) T &1 ddb

b) fafd =R &1 dd

C) 3[adih BT ddb

d) SWRad & T B 8

TP PR & SR Th UY oY
W3HTT T Y Hegd & & & =4
H S ST |

a) Sd

b) UTIdC

c) e Uy

DEIGIERL
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67.

68.

69.

70.

71.

72.

P.V. Young defines Observation as, “a deliberate
study through the may be used as one of
the methods for scrutinizing collective
behaviour and complex social institutions as
well as the separate units composing a totality.

a) Ears

b) Eyes

c) Credible source
d) a. and b. both

What is a sample called if it represents one or
few characteristics of the population more than
the others?

a) Good sample

b) Bad sample

c) Biased sample

d) Ineffective sample

When the offsprings inherit the father’s
name, the family is called:

a) Partilineal
b) Patronymic
c) Partiarchal
d) Conjugal

Which among the following is not a kind of
plagiarism?

a) Patch Writing

b) Untainted Plagiarism

¢) Indirect Plagiarism

d) Direct Plagiarism

The logic of induction is very much related with
a) The logic of sampling

b) The logic of controlled variable

C) The logic of observation

d) None of the above

A question during an interview such as “Why do
you feel that way” is Known as a:

a) Probe

b) Pilot

C) Filter question

d) Response



73. fofead 7 3 f5d oM IR R Iad

74.

75.

76.

77.

78.

79.

80.

TS TAT 3THR B SAIDHT g7

a) FIER THATDHRT
b) TR YTefwseh FHATHRUT

¢) SFARRYd THATHRUT

d) SHTUTfeieh TRIPpd THATBRUT
QY A Ny fqaRur e
IRy i &) faviy U § duR foear
gm%,a‘ramuwﬁﬁwﬁmw
?

a) ibid

b) et.al

C) etall

d) op.cit
T §H UH SRGd URGeUAl &I
AIHR HRd € & Jg arad o
JOg digmius_ fharg?
a) TRy I Ffe

b) ergu | Ffe

C) el i

d) dfergfe
FHATHION H, diedl g &1 Iy
g & fore forar S &:

a) el

b) dheuT

c) Rreia

d) YsHarEeRH
TR P I g St 8

a) TAT HTHR H FHH!

b) T PR H gik

c) UTEBDHIDHRUI B UfchaT
d) fazeiwor &t ufshar

frafafed & 3 w19 fRudy sia 82
a) B Arel
b) Afea=
c) Ors
d) A faaeH

DI T Ty JIY AOIGd /7
a) +0.10
b) -0.95
c) +0.90
d) -1.00

TG UTiehdT 9 8T A1
a) IHRIAS ¥U ¥ ka7
b) THRIA® ¥ ¥ favaT
c) APIDIEH foReT
d) T ferat
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73.

74.

75.

76.

77.

78.

79.

80.

Which of the following would generally require
the largest sample size?

a) Cluster sampling

b) Simple random sampling

C) Systematic sampling

d) Proportional stratified sampling

When two or more successive footnotes refer to
the same work which out of the following
expressions are used?

a) ibid

b) et.al

c) et.all

d) op.cit

When we reject a null hypothesis when it is
actually true, we have committed a ?

a) Type Il error
b) Type I error
c) Alpha error
d) Beta error

In sampling, the lottery method is used for:
a) Interpretation

b) Conceptualization

) Theorization

d) Randomization

Sampling error decreases with
a) Decrease in sample size

b) Increase in sample size

C) Process of randomization
d) Process of analysis

Which among the following is positional
average?

a) Arithmetic mean

b) Median

C) Mode

d) Standard Deviation
Which correlation is the strongest?
a) +0.10

b) -0.95

c) +0.90

d) -1.00

Normal probability curve should be:
a) Positively skewed

b) Negatively skewed

c) Leptokurtic skewed

d) Zero skewed



81.

82.

83.

84.

85.

86.

gfe MeywHdl Ig udl T & ol Th
WY BT ¢ 15 P A uwEe
et IRATT gHEaRfiddr # 3ifdew
muﬁﬂa-rr Sl 37 IS TP JaR0

a) aR¥® R

)Wﬁﬂ?f

c) ST STHY

d) SWIad & ¥ PIs g1

fRgfaRad & Q &9 91 Iad =R B
CHRUE KL

a) URAR &7 HR

b) Seforeia

c) $ar8

d) zaar

STHYT B Dt UfehdT o "gRpeaT
H1 fA=qur foar ST 8

a) Il & faaRur

b) eI &1 fazeiwur

C) THYT IUBRUI BT T

d) ScI &1 IUs

A WIT fob 31T WRT & PP
% P! FHGUAA P O HAT

TTed 8, @ 31 Pl § 3 fege
SR HRN?

a) &= FATHRl

b) Hedt-weol Jufert

C) 3Iehith TLATHRUI

d) PIeT THATHR

T URYTET &1 3T IUGNT &I
TRSAT HIAT AT FAl Bl JH
BT B dl URHTST HEard g7

a) qeiml

b) dgifde®

O RUESER

d) W&

T AT o 1Y URTal &1 Th g
S $© A UGRid R § 39
g o1 87

a) i

b) % Yy ah

C) TP ah

d) T Wi

81.

82.

83.

84.

85.

86.
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If researcher conducts a research on finding out
which administrative style contributes more to
institutional effectiveness? This will be example
of:

a) Basic Research
b) Action Research

c) Applied Research
d) None of the above

Which of the following is not an example of
continuous variable?

a) Family size

b) Intelligence

c) Height

d) Attitude

In the process of conducting research
“Formulation of Hypothesis” is followed by:

a) Statement of Objectives

b) Analysis of Data

C) Selection of Research tools

d) Collection of Data

Suppose you want to investigate the working
efficiency of nationalized bank of India, which
one of the following would you follow?

a) Area Sampling

b) Multi-stage Sampling

c) Sequential Sampling

d) Quota Sampling

When the purpose of a definition is to explain
the use or to eliminate ambiguity the definition
is called?

a) Stipulative

b) Theoretical

c) Lexical

d) Persuasive

A cluster of propositions with a structure that
exhibits some inference is called?

a) An inference

b) A Valid argument

c) An argument

d) An explanation



87.

88.

89.

90.

qgdaY TUd &1 g 39 ad o

ffga 8 f:

a) Ugdeg WP o1 U b JaY ¢l

b) ug sfirel P Yo A IUMT & I U g

¢) ug fpdl B al R & s Ty o1 fShan
dred e B Y 3l T gl

d) 7z giferei faxawu &t s R-
e fafy g |

QRO dh-e BT MTTT B

& fo ya foar ST §
a) UG B
b) TG &
c) HMg ddy
d) Iuares oRom
ST U8 & oRM o fagsht & g
JAReIdT3l & 398 A dgard B Hel
ST 8
a) yfafsramsiia gHE
b) Ul gy
C) Ui UHIa
d) delf-T g
& TS G § 99 HU B Ugdd
B ol MY &b 3 IR faRwaraif 1
g auiH Fxd B |
(i) STHYTH AR T T4 § GUR A
& T A g
(i) T MY ufehar # e 8k
AT faftel Tdhiea 8 St g
(i) ST TP AT 3R BT B
(V)T sif & I UeH B & fag
HYM IAP UGld BT IWN ]I
(v) TRTRF 3R SIHT HT YT HRA B
fafd &) My w1 ST Bl
(vi) Y GRT UM T 7T I B1 3rgHasd
U ¥ gAIUd fbar o1 g g
xﬁﬁwazdﬁﬂiﬁwﬂﬁ?:
a) (i), (iv) 3R (vi)
b) (@), (i) 3R (i)
c) (i), (v) 3R (vi)
d) (), (iii) 3R (v)

87. The importance of the correlation co-efficient
lies in the fact that:

a) There is a linear relationship between the
correlated variables.

b) It is one of the most valid measure of
statistics.

C) It allows one to determine the degree or
strength of the association between
two variables.

d) It is a non-parametric method of statistical
analysis.

88. The ‘Sociogram’ technique is used to study

a) Vocational Interest

b) Professional Competence
¢) Human Relations

d) Achievement Motivation

89. A shift in attitude in respondents between two
points during data collection is called
a) Reactive effect
b) Maturation effect
c) Regression effect
d) Conditioning effect

90. In the list given below, identify those
statements which correctly describe the
meaning and characteristics of research.

(i) Research is a method of improving our
common sense.
(ii) Deductive and inductive methods get
integrated in a research process.
(iii) Research is creativity and charisma.
(iv) Research is the use of scientific method to
provide answers to meaningful questions.
(v) Method of consulting and using experience
is called research.
(vi)The answers provided by research can be
empirically verified.
Choose the correct answer from the code Given
below
Code:
a) (ii), (iv) and (vi)
b) (i), (ii) and (iii)
c) (iv), (v) and (vi)
d) (i), (iii) and (v)
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91.

92.

93.

94.

T MYBHdl gRUTH & fazadwor 3R
R & forg IR-IRfife s utemr &
RF R Rfifed udteror &1 Iugn
HAT 81 39 & HHA & =0 H afvfg
fpar o1 b1 8

a) 3Hfae UM Snard

b) uftumt 1 Raifén & weER

C) 321 &Y YHT H dh-1h! I

d) =iy gRomaT & R

e SE@T G gl @ df SHaR

R {5 dob-ie &1 uTe- far ST g2

a) & TLATHRUT A1

b) Ie=aqul THATHRU dAHIH
C) afRUd THABRU db1b
d) IoRiad & 4 1 e

g UpR & My & Fepul/frspuf
@l 3 fufaal & forw gmHrdied
Te1 forar o gt 872

a) PRI JIAIHSD THY
b) fagTRie srfdu™

c) TS SrIIUH

d) TR Sru™

Gal-1 (FETDHR) B FA-11 (31) &
Ty gaferd sife ok i fig e
% d gl IR BT I HIIT:
- | (WMD)
a) IR AEMDHR
b) sreRferd Wameh R
C) Bfgd HETDHR
d) AP FETDHR
=t - 1 (3
(i) 31fP TRTT e¥bBIr
(i) IR T o are g9l O e &
(iif) STRTITA SiTa T 3fIHd
(iv) Jd Feiia us
(v) TR-
Hle:
@@ (b)) () (d)
a) (v) () (i) (i)
by (i) (v) (i) (i)
c) (v) (i) (iv) (i)
d) @) Gi) (v)  (iv)

91.

92.

93.

A researcher uses parametric test in lieu of non-
parametric test for analysis and interpretation
of results. This may be described as a case of

a) Unethical research practice

b) Malpractice in reporting of results
C ) Technical lapse in handling data

d ) Manipulation of research results

Which technique is generally followed when the
population is finite?

a ) Area Sampling Technique

b ) Purposive Sampling Technique
C ) Systematic Sampling Technique
d ) None of the above

The conclusions/findings of which type of
research cannot be generalized to other
situations?

a) Causal Comparative Research

b) Historical Research
c ) Descriptive Research

d) Experimental Research

94. Match List-l (Interviews) with List-1l (Meaning)
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and select the correct answer from the code
given below:
List-1 (Interviews)
a) structured interviews
b) Unstrctured interviews
c) Focused interviews
d) Clinical interviews
List - Il (Meaning)
(i) greater flexibility approach
(ii) attention on the questions to be answered
(iii) individual life experience
(iv) Pre determined question
(v) non-directive
Code:
@ (b)) () (d)
a) (iv) () (i) (i)
b) (i) (v () (i)
c) v (i (v ()
d ) i) v (v



95.

96.

97.

98.

99.

100.

39 Sfdfdvad SFHU™ BT T

I T A &2

a) 3IHYT P forg Tt ewior am
& fam|

b) ST &F H Thd [avd & SR
P HH B & (AT

c) SFTHYM B! HRT bl W g4
& fem|

d) 3gEYH Ugfd & e % ugia
T & forg|

fafofed & 9 5w R-aefes
TGO dHbId B Ymd!
gfautfal @ s Tuifaa ufaval
B UGIH HA & o Hea1 82

S SRR BT HHR [ HDHR
H1 8, A A & ToIT T SMaTS o
I B B! FRAIRET B il 82
a) 500 I1 394 HH
b) 100 a7 3T HH
C) 1000 TT 3T HH

d) URM Uh YA Dl IUIRT HATANGY
HY &1 T T T DI I JAMI?

a) qHEE
b) I
C) 3faRrd
d) 3rurd

fygidal ¥ AR uReeurel &
W W 9 I e ugfa
Ffeag?

a) AT fafy

b) SRTHATH fafdr

c) gReegT fafy

d) Ue fafy

T T 3au® &I TerIdl B drdl
fdd B! BT oIl 3

a) Muih

b) WS/t

c) MyHdl

d) &R

95. What do you consider as the main aim of inter
disciplinary research?
a) To bring out holistic approach to research.
b) To reduce the emphasis of single subject in
research domain.
c) To over simplify the problem of research.
d) To create a new trend in research
methodology.

ge. In which of the following nonrandom sampling

techniques does the researcher ask the
participants to identify other potential
participants?

a) Convenience sampling

b) Purposive sampling

¢) Quota sampling

d) Snowball sampling

97. ltis recommended to use the whole population
rather than sample when the population size is
of what size?

a) 500 or less

b) 100 or less

c) 1000 or less

d) One should always use a sample

98. Which scale is the simplest form of
measurement?
a) Nominal
b) Ordinal
c) Interval
d) Ratio

99. Which scientific method focuses on testing
hypotheses developed from theories?
a) Deductive method
b) Inductive method
C) Hypothesis method
d) Pattern method

100. The person, who helps the investigator in
investigation is known as:
a) Enumerator
b) Searcher
c) Researcher
d) Helper
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